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משוואות  טריגונומטריות
· נפתור  את  המשוואות  גם  בעזרת  הזהויות:    tan( = cot(900 - () 
cot( = tan(900 - ()                                                                    
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משוואות:
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tanx + cotx = 0  
tanx = -_______
_________ = cot(____)
tanx = tan(___ + ___)
x = ____ + ______ + 1800k 
______________________

[image: image8.png]



2. tanx + cotx = -2  
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____ + 1 = ______
t2 + _____ + __ = 0
(____ + ___)2 = ____     (  t = _____ .  נציב  __________   (    _________ = -1
x =  ______ + _______
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3. cot6x . cot(2x – 300) = 1         cot(2x – 300) ( 0  שכן  _______________________
                                                                                                ______________________
                                                                                             לכן  ניתן  ________________
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cot6x = ____________         _______ = tan(900-x)          (
tan(_____ - _____) = _____(2x - _______)
______ - _____ = _____ - 300 + _________
-_____ = -_______ + __________
x = _______ + _________
· 1.  (          2.          1350 + 1800k  3.+ 22.50k   150

עבודה  נעימה


cotx = tan(___ - ___)














































































































-cotx = _______





�











נציב:  t = tanx   (    � EMBED Equation.DSMT4  ��� 
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